1.0

H

0.5

3500

Ijlllllllllllllllllll==|||||II|IIII|IIII|I

3000 172.24*1135%37 d

2500

2000

1500

1000

500

lllllllll|IIII|IIII|IIII|IIII|IIII_llllllllll'_

IIII|IIII|IIII|IIII|IIII|IIII|IIII'|IIII|III

Illllllllllllllllllll
0—4000—3000—2000—1000 0 1000 2000 3000 4000

tmgz [d]

1.0

0.5

5000

4000

3000

2000

1000

0

H

— w(T)
—— Smoothed Dist
— ACF

=||||||||||1||||||||||||

|||||||||||||||||||||||||__l|||||||||'_

||l||||l||||l||||l|||.|l

||||||||||||||||||

5 Original
535.57+32.d

[
B Weighted

III|IIII|IIII|IIII|IIII|_'|IIII|III

|l|l|||l||||l||||l||

—4000-3000-2000-1000 O
tc4 [d]

1000 2000 3000 4000



